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S.D. |OV¥
(b 9/9) | (v 9/9) (b 9/9) [(no/g) |(ualo)
87 [11.2 [6.92  [61.9 |0.0624 [57.3  |11.0
85 [10.4 [4.17  |40.2 |0.0624 (20.3  |10.9
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(bo/g) [S-D-(Wglg) | CV'hh
1. 2 12 | 11.2 1.34 12.1
2.2 5 10 | 10.7 2.31 21.5
3.5 10 6 | 11.4 4.36 38.3
4. 10 2 | 16.5 - -




(v g/g) |S.D.(uag/g) | CV Y%
1. 26 9.27 4.86 52.4
2. 27 | 10.5 4.48 42.7
3. 24 | 11.1 3.17 28.5
4 2 | 13.2 - _
5. 1 | 16.2 - _
6. 3 | 10.9 0.557 5.1

1 316 2 6 3 6




(Ho/g) |SD-(uofg) | OV
1.1 13 |11 | 3.5 29.2
2.1 2 6 |05 | 402 38.4
325 2B |13 | 42 37.4
4.5 10 16 | 9.30 | 3.92 £2.2
5. 10 7| 840 | 6.3 75.3

Iml

1

5

(Wo/g) |S-D.(uolg) | CVYh
1. 0.1 27 | 11.2 3.39 30.2
2. 0.1 0.5 31 | 10.8 3.64 33.7
3.0.5 1 11 | 11.9 3.37 28.4
4.1 5 14 | 6.58 | 4.45 67.6
5.5 1 |19.9 - -

1424314




(M o/g) |S-D.(ug/g) | CV 5%
1. 12 | 10.9 0.766 7.0
2. 42 9.85 4.08 41.4
3. 2 | 10.1 - -
e 1 8.87 - _
5. 3 8.97 9.69 108.1
6. 25 | 11.3 4.73 41.8

1 2 1516 2 5




(Mg/g) |S-D.(uglg) | CV b
7 | 13.1 6.56 50.3
1 | 16.2 - _
75 | 10.0 3.87 38.6




/
(b 9/9) |S-D.(ug/g) | CV %

1. 0.05 44 | 10.9 3.31 30.5
2. 0.05 0.1 11 | 12.0 3.44 28.7
3. 0.1 0.2 10 | 10.4 4.46 42.8
4. 0.2 11 6.12 4.32 70.6

1 2 1 4 2 4

1 4 2 4 3 4




v 9/79) S-D.(u 979) CV %
1. 62 10.4 3.22 31.1
2. 22 10.5 6.28 60.0
(
(M 9/9) SD CV %
(nQ)
1000 20 9.22 4.35 47.2
1000 2000 18 10.2 2.22 21.9
2000 22 11.2 2.45 21.8




SD CV

107 4.38 1.52 4.7 87.6
11 (uo/l)

103 5.51 1.18 21.5 91.8
13 (uo/l)

06 5.10 0.676 13.2 92.7
14 (ug/l)

85 10.4 4.11 40.2
15 (b 9/9)
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